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COMPUTER NETWORK TECHNOLOGY

(2003 Course)
Time : 3 Hours : : Max Marks : 100
' = DEC 2007
Instructions : 1) Answer 3 questions from Section I and 3 questions from
Section II.
2) Answers to the two Sections should be written in separate
books.

3) Neat diagrams must be drawn wherever necessary.
4) Black figures to the right indicate full marks.

SECTION -1

1. a) IPv 6 uses 16-byte addresses. If a block of 1 million addresses is allocated
every picosecond, how long will be the addresses last ? 6

b) How jitter and delay can affect the quahty of service ? Explain by giving two
examples. 6

¢) Why the algorithms for congestion control are different for virtual circuit

subnets and datagram subnets ? 6
OR
2. a) Explain the hierarchical routing with suitable example. 6
b) List the pros and cons of Internetworking. How Internetwork is different
from Internet ? 6
¢) What is BGP ? Explain the operation of BGP with suitable example. 6
3. a) Suggest at least two solutions to overcome the silly window syndrome
problem. 8
b) Why does UDP exists ? Would it not have been enough to just let user
processes send raw IP packet ? 8
OR
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4. a) In a network assume that maximum TPDU size of 128 bytes, a maximum
TPDU lifetime of 30 seconds, and an 8-bit sequence number. Calculate the
maximum data rate per connection.

b) Describe any two flow control mechanism. How timer plays the role in the
flow control ? '

5. a) Cana computer have two DNS names that fall in two different to level domains ?
If so, give an example. If not, explain why not.

b) Compare between FTP and TFTP.
OR

6. a) Why cookies are important ? What will happen if cookies are omitted ?

b) POP3 allows users to fetch and download e-mail from a remote mailbox.
Does this mean that the internal format of mailboxes has to be standardized so
any POP 3 program on the client side can read the mailbox on any mail server ?
Discuss your answer.

SECTION - I

7. a) What is the need of RTCP protocol in addition to RTP protocol ?

b) Are the TCP receive buffer and the media player’s client buffer the same thing ?
If not, how do they interact.

OR
8. 2) What is the essence of RTSP ? Explain with suitable example.
b) Differentiate between SIP and H.323 protocols.

9. a) What do you mean by network management ? Describe the ISO model for
network management.

b) List and explain the principal components of a network management
architecture.

OR
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10. a) What is need of SMI ? Describe the structure of SMI. 8
b) How SNMP messages are used to monitor and to control the network
elements ? ’ 8
11. a) Explain the wireless LAN architecture. 8
b) Compare between Frame Relay and Cell Relay. 10
OR
12. Write short notes on any three : ' 18
a) X. 25

b) Limitations of Bluetooth
¢) ATM Switch

d) Hidden Station Problem.
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